201 94K TEREXH) I8 KR

DY—4 - |IE{H0sg
17J0v% 27Jawvy
Tfjdls @M & I F OENAT D K
2H6|A G C F  E246L|J F E ®
34I|H X i TH F|3 £I|F = =} T @
A6ilK H % #* & LUGFE B B EFE OB £
6 Ao R (X) 1-+: £BEI—F 6 Ao R (X) 1-+: £BEI—F
HHETL - FE vs TDK AGC - FE s JFE®
— 6 4 —
S1| x ABALER 2 6 2 kE#EEA O|S1|O _&EEE 2 g - } 1 _#M # x
6 2 -3
S2| x _#EAEHE 1 % - 160 2 _HEEE O|S2|O BimkrAL 2 0 0_EB & x
0 6 6 - 2
S3|x AIIERH 1 7 - 5 2 EiEs O|S3|x ERME 1 4 — 6 2 #1788 O
7 - 10 2 -6
XABEEH 3 - 6 KEESA HEEE 6 - 4 M
D1| x 0 olp1|o 2 0 x
MAREH 6 ® 7 A 5 45 EERE 7-5 ETEE
BREIE— 0 -6 BHEE EETE 6 - 4 EE &
D2| x 0 2 o|D2|O 21 —6 1 X
I ER 4 - 6 #BA = EBEAN 6 - 2 BT
P 0 — 5 P 4 — 1
S 2 — 10 S 9 — 4
G 32 — 58 G 66 — 46
@6)5!9E|(i):—k £Ba3—k @6ﬁ95(i):—b: £B8a3—+h
BEEHEF vs FERFOQ KH®A4 L vs FHEEHER
6 — 3 —
S1|O_FE#h 2 i 0 maEAm x|S1|1O A=A 2 0 _#AMEETE  x
0— 6 7 -5
S2| x _[EEEtH 0 2 mumE O|s2|o mmsE 2 0 _fRIERA X
4 — 6 6 — 3
6 - 1 1 -6
S3x A ® 15 - 7 2 AARK O|S3| x _#m@aix 0 2 FMmEaE O
0 - 10 2 -6
BAMBE 3 -6 FREIEEA HHEN 6 - 0 _®uFnE
D1| x 0 2 olp1|o 2 0 x
EABELR 5 - 17 L E HkSE 6 - 2 FARS A8
HEE 13 3 -6 REEEe HREEx 4 - 6 _REEN
D2| x 16 -2 2 O|D2| x 0 2 @)
WA & 8 - 10 wmHZAN R 2 -6 ERER
P 1 — 4 P 3 — 2
S 4 - 8 S 6 — 4
G 44 — 50 G 46 — 34




201 95K FERRXHAY—IJH H&R

DY—4 =« 17AawvYy
F— L% KHARFA 4 L AGC - T3 HAIET - FE BAREF B R | IE
KHARA 7 LA Q 1-4 @ 0-5 @ 0-5 0 1 4
AGC  FE Q 4-1 @ 2-3 D 4-1 2 10 2
mAET - F¥E | 5-0 @ 3-2 Q@ 2-3 2 10 1
B AR FEF @ 5-0 D 1-4 Q 3-2 2 9 3
3A31H(A) 13-} KHRASTL 3A31H(H) 1-}: AGC:FE ®4)5113E| (£) 3-b: BARBETF
KHRFAH L vs HAIEI - FE AGC-TE vs BXRWEF KHRFH L vs BFREREREF
= 6 — 1 — 6
S1|x &g B#R 0 2 xpx #m O|S1|O w5 2 2 6 1 0 _FE B8 x|S1|x =i B 0 6 2 £ & O
— 6 6 — 3 1—6
S2(x BB BEX E%OO 62—%% i OSZOMZG OOMXWX@O1 GZMO
-6 1 -6 1 -6
S3|x ZiE Fith O 6ZZ:TJII Figt O]S3| x fe EFE\O1 GZIEIIIE =t OlS3| x =& %umOO 62&1"& # O
Rk BRTR 1 -6 AAR R i =E 6 - 3 BR e Rk BRTR 0 -6 BR wE
D1| x 2 oln1|0O 23 -61 x |D1] x 0 2 @)
e #hix 2 -6 - =ik BT 6 - 3 =8 EER £EE EX 0 -6 =8 EER
mEE & 6 @ 7 Al __Eif ER HE 7 -5 NG —2 e #ix 1 -6 FE &
D2] x 17 -52 o|n2|0 23 -61 x |D2| x 0 9 0O
mE BE 2 6 Bk IE— B AR 6 - 2 G =il fith 3 -6 G FEt
P 0 - 5 P 4 - 1 P 0 - 5
S 1 - 10 S 8 - 4 S 0 - 10
G 23 - 66 G 57 - 42 G 1 - 60
@4)5!135 (£) 13-+ AGC-FE ® 482 1H((H) 13-} KHRFHLA 3 4R821H(H) 1-}: HWAEI - FE
AGC - FE vs HAEI-FE KHRFH L vs AGC: FE OAEL - FE vs BAEAREREF
6 — 3 2 — = 7
S1><Hﬁ£%1§18—22aa*&aeos1x§ﬁ a:samoz 62*##5%%031xaa*&530 62E|1l¥l #th O
6 — 3 6 — 3 — 6
Szoﬂu;ﬁ#xarsZG Oom JIE— x|S2|O i %.“4;1%26 ZOEIJH?#XEBXSZX 2R w0 62lﬁ‘:lm%? &t O
1 -6 -6 -6
S3|x #han &FK 0 0 6 2 m)l _Z:ig OIS3x EB BEx 0 6 2 EEmAE OIS3[x A = 0 3 6 2 _ WX & O
i =E 6 -0 i irE e #ix 4 - 6 E=H fE RAR 5 6 - 2 BR e
D1|O 2 0 x|D1| x 16 -12 o|p1|O 22 -61 X
EiE BT 6 - 2 2R = HE Eth 4 - 6 BIRE AL TR B 6 - 2 =15 AR
B AR 1 -6 AAR R i B 4 - 6 i =E A IE— 6 - 1 FE &
D2| x 0 2 O|D2| x 17 ® 6 2 (@] hi[e] 2 0 X
RIRE FEARD 3 -6 Tl Eth mEE 18 3 -6 =ik BT Rl =i 6 - 3 IMNE —2
P 2 - 3 P 1 - 4 P 2 - 3
S 5 - 6 S 4 - 8 S 4 - 1
G 39 - 44 G 46 - 60 G 43 - 51




201 95K TRREXHY—JH HR
DY—4 - 27099

F— L% FHREERER TDK JFE® TFERFQ |BE| KA b |IEL
FEEEFRER @ 14 @ 1-4 @ 2-3 0| 4 |4
TDK Q@ 4-1 @ 41 @ 5-0 3 13 |1
JFE®@ D 41 @ 1-4 Q 32 2 8 2
FERFQ @ 3-2 @ 0-5 Q® 23 1 5 3
® 3A31H(A) 1} FHEEHER ® 3A31RA(A) I1-h TDK 48138 (1) 1-b FEEFO
FHREEMREHR vs JFE®Q TDK vs TFERFQ FHREEMNER vs FTERFQ
5 -1 6 — 2 2 — 6
S1| x _¥+kAE1E O 0 6 2 A  O|S1|O kE#EEA 2 6 1 0_LtEBxE x|SI|x _t+mEE 0 4 6 2 _TEBxX#% O
6 — 0 6 —0 2 — 6
S2|x _fRIEFN 1 0 - 6 2_EBE & O|2|0_EfMEE 2 0 _FulissE x|S2| x RN 0 2 s O
1 —6 7—-5 4 — 6
6 -0 6 - 4 6 - 1
S3|O _MMaE 2 6 0 0 =EAZEE x|S3|[O #HAkx 2 6 1 0 XAEFx x|S3|O MEAE 2 6 9 0 _KXABFE X
PARE A8 4 - 6 EAER KEFBEEA 6 - 2 NI —75 PARE A8 6 - 1 FBRIE A
D1| x 16 -1 2 (o] hil[e) 2 0 x|D11O 2 0 X
EElEh 3 -6 HHE {8 BESE 6 -0 FBRIE A EElEh 6 - 4 TEXE
BT % 1 -6 EHRRE A 7 -5 LB R BF%= 0 -6 =g
D2| x 0 2 Ol|b2|O 21 -61 x |D2| x 0 2 @)
_EBHEEKX 2 - 6 ARARE _mBEEE 6 - 4 BHEAM _EBEHEERX 1 - 6 | BHEAH
P 1 — 4 P 5 — P 2 —
S 4 — 8 S 10 — 1 S 4 — 6
G 40 — 50 G 63 — 30 G 37 — 44
®4)5113E| (£) 3-b: TDK ® 482 1H(H) 21-}: FHEEHRER @ 482188 1M JFE®
TDK VS JFE® FREEWEHR vs TDK JFE® vs FERFOQ
3 — 6 0—6 6 — 2
S11O kFE#EEA 2 g = } 1 _EBRE x|S1| x _##iEE 0 0 6 2 KkE#FSEA O|S1|O {kEERE 2 6 1 0 EHE=RE X
- 2 6 — 3 6 — 2
SZX#BDEEE#5¢14—92 EE = OSZOMZ6 10%X32Xm13—82%0
3) = —
7 ® 6 4 - 6 6 - 3
S3|O_#ikE 2 0 AEEM#ELE X|S3(x FREAE 1 6 — 1 2 _#KE OIS3|O _ZFZfatsE 2 2 - 6 1 _KARE X
6 - 2 3 -6 7 -5
AEHEX 6 - 3 M f BWIRE 0 - 6 KEHEX EBE 0-6 _s—x
p1|O 2 0 x|p1| x 0 2 o|b1] x 0 2 o}
A 6 - 2 EAER I 6 m 7 HIE B JI4BE A 1 -6 TEXE
BESE 6 - 1 JIAEE A BRIFZA 6 - 1 EERS EERE 6 - 1 LB EE
D20 2 0 x|D2| x 14-62 oln2|o 2 0 x
B/ARE 6 - 3 BTEE FEEEH 2 -6 $BARE BTSSR 6 - 1 FBRIE AA
P 4 — i P i — 4 P 3 — 2
S 9 - 3 S 4 — 8 S 7 — 5
G 68 — 40 G 43 — 55 G 50 — 45




